DIMENSION

A B

DOOR RECESSED
1/8”

5/8"5/8"

DOOR FLUSH WITH
HEADER

3/471/2"

1/16" PRE-ADHERED
SHIM REQ'D FOR 1/8" WALL

|—1-3/4—]
—=—7/32

9/3:

§

1

1-7/16

|

(2 Places)

S

i

RH/LHRB (SHOWN)
LH/RHRB (OPPOSITE)

PIVOT REVERSIBLE FOR DESIRED HAND

15/32 (3/16 WALL) SHOWN
F11/32 (1/8 wan)

—3/4

[ 3/4

f

. TRl | |
| R asL :

PORTIONS

|
|
| |
|
|
CUT-0UT DETAIL TYP, }a 34— | (7 PLACES)
FOR DOOR AND JAMB |
} — =12 =
| |
| b
| arrio |
DIMENSIONAL TOLERANCES APPROVALS DATE.
UNLESS OTHERWISE SPECIFIED [ spproveD - I
DECIMAL DIMENSIONS .XX + .010 \J
o e oo o jacksom
ANGULAR + OTrRAcﬂoNAL +1/64| DRAWN | R M |8.21.02 CORPORATION
FILE NO. MATERIAL SCALE 5447 uniow paciec ave. ©
10—-1049 NONE LOS ANGELES, CALIF. 90023
NEXT pe. s INTERMEDIATE PIVOT [-SHeer T oF 1 sveers
SET NO. J69 T -
QTY. USED HEAT TREAT .
(1/8° & 3/16 WAL THickhess) | 10—1049| B

1 624

3/8 [3/4 1*WI/‘*

\12724 FHMS(PHIL)



http://www.autodwg.com

DIMENSION |A | B

RH/LHRB (SHOWN)
700505 RECESSED 5 /9715 /g LH/RHRB (OPPOSITE)
/ PIVOT REVERSIBLE FOR DESIRED HAND

DOOR FLUSH WITH |, A s
HEADER /2

15/32 (3/16 WALL) SHOWN
{11/32 (1/8 wALL)

f

1/16” PRE-ADHERED J b
SHIM REQ'D FOR 1/8" WALL A «‘«—- arri

I — N
“Illﬁil 771 ] 3/4

|—1-3/4—
H—7/32

T il I
W—7l/16 7@ G

(2 Places)

R

3/8 ]3/4 1*WI/‘*

CUT-0UT DETAL TYP 5 -

|

|

|

|

X |
FOR DOOR AND JAMB |
|

|

|

|

l

K 12-24 FHMS(PHIL)
(6 PLACES)

PORTIONS

MODEL J6IS

DIMENSIONAL TOLERANCES APPROVALS DATE.
UNLESS OTHERWISE SPECIFIED [ spproveD

1
DECIMAL DIMENSIONS XX 010 N
e e ACKSOon
DECIMAL DIMENSIONS XXX__* 005

ANGULAR = O[ FRACTIONAL * 1/64| DRAWN | R.M,|8.22.02 CORPORATION

FILE N?'Of 1051 MATERIAL SCALE N O N E fg;a%/g/gs’méﬂg Agfdz?

i e INTERMEDIATE PIVOT [[ghee Tor T smerr

QTY. USED HEAT TREAT SET NO. J69S DWG. No. BEV.
(1/8°% 3/16" WAL THCKMESS) [ 10—1051| B



http://www.autodwg.com

DRILL & C'SINK FOR

/ALUM\NUM HEADER

TOP OF

RELEASE FOR PRODUCTION

DATE

A — PRELIMINARY:

ROUTE OUT FRAME AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
NOTCH—-OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON

TEMPLATE.

— PIVOT MOUNTING:

INSTALL TOP AND BOTTOM DOOR PIVOTS USING (2 EA.) 1/4-20 x 1/2 HEX HD. CAP

DOOR

RETAINING P\N\ @
T

VIEW SHOWIING MANNER OF DEPRESSING

‘:
3

R
%

%
N

NS
?% SR
SRR

S
R
3

3
S
R

R
R

L
AL
N
R
XN

3
RETREK
R
R
RRIIX

X

SECTION VIEW

HINGE PIN
DRILL HOLES FOR MOUNTING OF PIVOTS AS SHOWN ON TEMPLATE.

SCREW AND (2 EA.) LOCKWASHERS AS SHOWN ON SECTION VIEW.

INSERT HEADER PORTION OF PIVOT AND SECURE WITH THREE
PLACE FLOOR PORTION OF PIVOT IN POSITION AND SECURE TO FRAME WITH FOUR

12=24 FHM.S.

PLACE THRESHOLD IN POSITION, SECURE IN NORMAL MANNER AND SECURE

THRESHOLD TO FLOOR PIVOT USING TWO 12—24 F.H.M.S.

C — DOOR INSTALLATION:

PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.

DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER

HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.

ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW).

RETIGHTEN.

TO REMOVE DOOR, PLACE SCREW DRIVER ON RETAINING PIN AND DEPRESS AS

SHOWN IN SECTION VIEW.

HINGE PIN

\ PIVOT—-TOP DOOR
PORTION

12-24 F.HM.S.

BE SURE AND

* 13/16
R S 12-24 F.HMS. (3 PLCS.)
% {23/64 (UNDERCUT)
L X‘ X i w ot
»‘ ﬁ ! 1/8 STANDARD
—5/8 — I /8 o0
5 } T —  CLEARANCE
r DRILL .257 DIA. ‘ !
|| (4) PLACES |
777777777777777777777 ‘ /
= PIVOT—HEADER @
4 " porTION ‘
40-1035 ‘
—hs/ielee \\' \\’
\ M ;
2.
DRILL & C'SINK FOR 12-24 F.H.M.S.
(UNDERCUT) PER DIM'S SHOWN o GLASS
2 ON THRESHOLD ; .
4 ON FRAME Y B
~_ ) il m— d W
1-5/16 Eil/ —
25/64 — cuUT-0UT Bl [
\ N T e
| hY%: 1 g I 3
25/32 1/8 \= - 3/4
e ] %\ F 1 4
]
e ] [C1-5/64 21/32- K SET SCREW (2 PLACES)
L R S | 13/18 =1 |=— PIVOT—FLOOR PORTION
25/84 |1 _17/32 |~—NOTCH-OUT THRESHOLD \\l g \\l \\l 1.
—r 3/4 |=—
11/4 = =
N 4.
4
}:/WG ~ 1-11/16 ‘¢
S l 1
1/2 — FLOOR /2 L e
THRESHOLD LEVEL b e DOOR
NOTeH=0LT PIVOT—HEADER CUT=0UT CLEARANCE
/ EORTION THRESHOLD
EDGE_OF DOOR
EDGE OF DOOR 40-1034 o
PIVOT—FLOOR PORTION J 4 7 P/ V@ T SET
RH. 40-1037
RH/LHRB (SHOWN)

clo/26/98 ] REDRAWN ECN1143 EY
DIMENSIONAL TOLERANCES APPROVALS DATE
UNLESS OTHERWISE SPECIFIED [ seproven ° 4—: I
DECIMAL DIMENSIONS .XX + 010 o) I ‘
DECIMAL DIMENSIONS XXX * .005 CHECKED l.‘c {k\‘.l.
ANGULAR T O[ FRACTIONAL _* 1/64| DRAWN | JJM |3/8/97 CORPORATION
FILE NO. MATERIAL SCALE 3447 UNION PACIFIC AVE. ®
NONE LOS ANGELES, CALIF. 90023
NEXT ASSY. FINISH INSTALLATION INSTRUCTIONS | SHEET_1_OF 1 SEETs
J—41 PIVOT SET - N PR
QTY. USED
HEAT TREAT DOOR RECESS 3/32 10-501 | C



http://www.autodwg.com

DRILL & C’SINK FOR
12-24 F.HM.S. (3 PLCS.)

1/8—*

=
5/16»‘ ‘ 4
— 5/8 |e—
15/32 1%
/ L T*B‘Z ‘277» DRILL .257 DIA.
|| (4) PLACES

PIVOT-FLOOR PORTION
R.H. 40-1161
L.H. 40-1162

/A

LUMINUM HEADER

Nw

=

X
f

J34 PIVOT SET

L.H.R.B.(SHOWN)

DRILL .257 DIA.

RELEASE FOR PRODUCTION ‘ DATE ‘

/8 R TOP OF DOOR
(4) PLACES
| HINGE PIN
1 1 TOP _OF TOP OF
7/35,*,‘,9 W/wa DOOR DOOR
1-1/4 ﬂzx
- |
1/8 STANDARD .
DOOR e - a4 / =~
CLEARANCE =
e RETAINNG PIN s
= l~—9/16 -
5/64 R~ _|3/4 | L

VIEW SHOWING HOLES AND CUTOUTS

\ PIVOT-TOP DOOR
PORTION

FOR TOP DOOR PORTION PIVOT WITH

SECTION VIEW SHOWING INSTALLATION

LONG RETAINING PIN. (TO REMOVE DGOR

OF HEX HD. CAP SCREW & LOCKWASHER

SCREWDRIVER ON RETAINING 10 REMOVE DOOR USING TOP DOOR

PIN (ROLL PIN) AND DEPRESS

A — PRELIMINARY:

PORTION PIVOT WITH SHORT RETAINING
PIN (ROLL PIN), REMOVE EITHER HEADER
PORTION PIVOT OR TOP DOOR PORTION
PIVOT FIRST.

DRILL HOLES FOR MOUNTING OF PIVOTS AS SHOWN ON TEMPLATE.

ROUTE OUT FRAME AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
NOTCH-OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
TEMPLATE.

PIVOT MOUNTING:

INSTALL TOP AND BOTTOM DOOR PIVOTS USING (2 EA.) 1/4-20 x 1/2 HEX HD. CAP
SCREW AND (2 EA.) LOCKWASHERS AS SHOWN ON SECTION VIEW.

INSERT HEADER PORTION OF PIVOT AND SECURE WITH (2) 1/4-20x5/8 FHMS
#14 x 1/2 F.HW.S. AND TWO (2) #14 ANCHORS.

PLACE FLOOR PORTION OF PIVOT IN POSITION AND SECURE TO FRAME WITH
TWO (2) 12—24 x 3/4 FHMS

PLACE THRESHOLD IN POSITION, SECURE IN NORMAL MANNER AND SECURE
THRESHOLD TO TO FLOOR PIVOT USING TWO (2) 12—24 x 3/8 FHMS

DOOR INSTALLATION:

C%ﬁ\i?;{@ | ~PIVOT-HEADER @
_— ! R a PORTION ‘
! 40-1160 : \, \
! ‘ R iz elae PLACE.
‘ XRETRRETIRETXREA
4
\ i
N \%
g
\ \ : ~
7
;
DRILL & C'SINK FOR 12-24 FHMS. 9 =
(UNDERCUT) PER DIM'S SHOWN G GLASS 1.
2 ON THRESHOLD B / 2.
2 ON FRAME 4 / 3
\/ 1 j/BZ 7377 1 % [
J— - = ‘
25/6\‘*} \ cUTZ0UT = ‘ B
_rl
\ \ Y O 1.
v < v : it
25/32 1/8 J j 3/4 2
- I e )
I E
] F1-5/64 3/4- }
23732 e £ SET_SCREW (2 PLACES 5
— 56 E 8 13 /16w - PIVOT—FLOOR PORTION i
25/64= | 1_ 17/32 |=-noOTCH-0UT THRESHOLD ‘\, \\l 4
* J— 3/4 —— E:E C
1-1/4 P : = 1
1 R i 2.
7/*16 s = [ L 3
L”i T L 1=1/16 11/16 | !
PEROEROTEROTERE =
1/2 ] FLOOR 1L 1/2 Ls/wa
{ THRESHOLD LEVEL f - CLEDAOROARNCE
NOTCH-0UT - CLEAR/
NOTCH-0UT PIVOT—HEADER CUT=0UT THRESHOLD
EDGE OF DOOR—! / SORTION
40-1160

PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.

ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND

RETIGHTEN.
CJ]2/25/98 R EDRAWN ECN1143 [RM
DIMENSIONAL TOLERANCES APPROVALS DATE
UNLESS OTHERWISE SPECIFIED  [aeproven . 4—:
DECIMAL DIMENSIONS XX ¥ 010 o I N
DECIMAL DIMENSIONS XXX * 005 | ool l"c {L\‘.I.
ANGULAR * O FRACTIONAL ¥ 1/64| DRAWN | JJM | 3/8/97 CORPORATION
FILE NO. MATERIAL SCALE 3447 UNION PACIFIC AVE. ©
NONE LOS ANGELES, CALIF. 90023
NEXT ASSY. FINISH INSTALLATION INSTRUCTIONS | SHEET_1_OF 1 SeEs
QTY. USED HEAT TREAT J=34 PIVOT SET . v
DOOR FLUSH WITH JAMB 10-552 | C



http://www.autodwg.com

13/16+/
1 =

—

oo lu N
r;;

DRILL & C'SINK FOR

12-24 F.HM.S. (3 PLCS.)

SECTION VIEW SHOWING INSTALLATION

OF HEX HD. CAP SCREW w

EXT. SEMS

‘RELEASE FOR PRODUCTION ‘ DATE

HINGE PIN

RETAINING PIN

R

D!
R
X

<
R
R

8|

ST

AN
t | =
B 5/16 (1/8 DOOR :>
- = ns —1 clearance ET "sfg:%
. ‘ I o
dep 45 -
32
13/30 37 DOOR_PORTION
/ 1 »‘ 7 = TOP_PIVOT
DRILL 512 DIA. HEADER PORTION = A PRELIMINARY - &
i | ‘ (4) PLACES A I -
T TOP_PIVOT N 1. DRILL HOLES FOR MOUNTING OF PIVOTS AS SHOWN ON TEMPLATE.
5 | g / ‘ 2. ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
5 S \l | \l 3. NOTCH—OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
% . - i3 16l TEMPLATE.
D
} \/ B - PIVOT MOUNTING:
B ‘ N ‘ 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12—24 x 3/4 F.H.M.S.
— - || 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE TO JAMB WITH
> TWO (2) 12—-24 x 3/4 F.HM.S.
\l j\l 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER, THEN
WQ—DZRA‘LLLFSCMCYSS‘N(E EE§S> SECURE THRESHOLD TO PIVOT BY USING TWO (2) 12-24 x 3/8 F.H.M.S.
N : 1 9/16 4. PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
\l | \l CUT-0UT ] DOOR WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
- N / SECTION VIEW.
r— ] /7_,? 5. PLACE BOTTOM DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
3}4 3}4 P ) £ - = WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
} ——
LI D —— - 1 ' C - DOOR INSTALLATION:
58 === T — 7/32 34 |G L gi—23/4 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
f 3)4 13/8 I 3 I 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
‘ l S~ FLOOR PORTION PIVOT HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
13/16 LA 13/16— - 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
—1 1 17/32 NOTCH—OQUT THRESHOLD \l 1\1 \l ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
! RETIGHTEN.
\ \ \ |
NS = J=25 PIVOT SET
RN
|
4 \L} /://
- N DOOR PORTION ik = RHG\LHPB SHOWN
X BOTTOM PIVOT djtsss | W\ PHRE OPP
3/4 1 T r3/16 DOOR el \\ ( )
* Y ~ 138 o '\ CLEARANCE
o ] ‘
1/2 i FLOOR i ‘ 2
I LEVEL L | { B]2/25/98 | REDRAWN ECNT143 [ RM
11/32 | THRESHOLD DIMENSIONAL TOLERANCES APPROVALS DATE
NOTCH-OUT THRESHOLD cut-out | UNLESS OTHERWISE SPECIFIED | approveD ° <-: I
DECIMAL DIMENSIONS XX t .010 @ .I ‘
DECIMAL DIMENSIONS XXX * .005 CHECKED l.‘." {b"l.
ADJUSTABLE ANGULAR T O FRACTIONAL * 1/64| DRAWN | JJM |2/14/97 CORPORATION
PIVOT PIN PIVOTS FOR THRESHOLD | g ¢ wo MATERIAL SAE NONE Lo8 e s . 9625
1/4-20 x 5/8 SET SCREW FOR FLOOR PORTION USE ONLY. NEXT ASSY. FINISH SHEET 1 OF 1 SHEETS
LEVELING TO COMPENSATE corron eor INSTALLATION  INSTRUCTIONS  —5e=5 REV.
FOR UNEVEN FLOOR BOTTOM PIVOT J—25 PIVOT SET
(2 PLACES) QTY. USED HEAT TREAT So0R FLUSH 10—568 B



http://www.autodwg.com

DRILL & C'SINK FOR

\\l . ‘RELEASE FOR PRODUCTION ‘ DATE
A ws/wq« 12-24 F.HM.S. (3 PLCS.) HINGE PIN
SECTION VIEW SHOWING INSTALLATION §/
| L e ~RETAINING PIN
— OF HEX HD. CAP SCREW w/ EXT. SEMS %754
. N\
o] AN
i i T ERSRSES
ST LT ‘ =
el 5/16 125 DOOR =1
—l = CLEARANCE <5 950
4 i — L =555
1 KA
5 | ﬁ IR A
13/32 .37 DOOR_PORTION
/ 1 »‘ 7 = TOP_PIVOT
DRILL 312 DIA. HEADER PORTION = A . &
r | (4) PLACES — PRELIMINARY:
T ‘ TOP PIVOT Ny 1. DRILL HOLES FOR MOUTNING OF PIVOTS AS SHOWN ON TEMPLATE.
B ; g / 40-512 ‘ 2. ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
f > \l | \l 3. NOTCH-OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
E ; i3/l TEMPLATE.
6 N DOOR PORTION ~
! ~— TOP PIVOT B — pvor MOUNTING:
B ‘ N e — ‘ 40-1208 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12—24 x 3/4 F.H.M.S.
— - \ﬂ 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE TO JAMB WITH
h TWO (2) 12-24 x 3/4 F.HM.S.
\l j\l 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER, THEN
- DQLLFQ%MC'SS‘N(E EE§S> SECURE THRESHOLD TO PIVOT BY USING TWO (2) 12—24 x 3/8 F.H.M.S.
Y ) 19/16 DOOR 4. PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
\\l ‘ \\l CuT-oUT mi /7 WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
C - ) SECTION VIEW.
i | — — 5. PLACE BOTTOM DOOR POTION PIVOT IN POSITION AND SECURE TO DOOR
3}4 3}4 B i Ei @ | WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
/ i
! 4 B - 1 — - - — 7 C — DOOR INSTALLATION:
3/4 —_ 5/8 :3/4
== ! — /32 o8 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
| /4 13/8 I i 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
l 13 /161 ¢\ FLOOR PORTION PIVOT HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
13/16 LA 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
—l 11732 NOTCH—OUT THRESHOLD \l 1\1 \l ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
N | RETIGHTEN.
N N\ |
S | J—=26 PIVOT SET
4 7
NS
1316 N DOOR PORTION f = PH\LHPE SHOWN
1 BOTTOM PIVOT S
| A \RHRB (OFP.)
b - orzs | S L.H.\ RHREB (OPP.
* ' h 13/8 & T '\ CLEARANCE
. ] ‘
1/2 W; FLOOR i ‘ | 1/2 % c[ 10/31/00] REVISE ASSY NO'S ECN1429 RM
I LEVEL L | f Bl 2/25/9B[R EDR AW N ECN1143 RM
11/32 | THRESHOLD DIMENSIONAL TOLERANCES APPROVALS DATE
CUT-0UT UNLESS OTHERWISE SPECIFIED | spproveD ° <-: I
NOTCH—-OUT THRESHOLD DECIMAL DIMENSIONS .XX  * .010 @) .I \
DECIMAL DIMENSIONS XXX * .005 CHECKED l.‘t [b"l.
ADJUSTABLE PIVOTS FOR THRESHOLD ANGULAR * O FRACTIONAL * 1/64| DRAWN | JUM [2/14/97 CORPORATION
P USE ONLY. FILE NO. MATERIAL SCALE 3447 UNION PACIFIC AVE.
PIVOT PIN N ON E LOS ANGELES, CALIF. 90023
W/472O X 5/8 SET SCREW FOR _ NEXT ASSY. FINISH SHEET 1 OF 1 SHEETS
FOR UNEVEN FLOOR BOTTOM PIVOT  40-738 LH(OPP.
(2 PLACES) QTY. USED HEAT TREAT DOOR RECESSW/S /‘ 07569 C



http://www.autodwg.com

\\l N\ ___ DRILL & C'SINK FOR ‘RELEASE FOR PRODUCTION ‘ DATE
axqj,/w@r 12—-24 F.HM.S. (3 PLCS.) HINGE PIN
P f SECTION VIEW SHOWING INSTALLATION §/
A% / XA RETAINING PIN
S ! 13/16 OF HEX HD. CAP SCREW w/ EXT. SEMS \
i — | H= N
3 \ I ‘ =
Eas Bl 5/16 =0
8 3 (1/8 DOOR =
2 1 —1 ClEARANCE E———
o 17 ——
32
37 DOCR PORTION
25/32 e = e ———
/ 1 »‘ 7 = TOP_PIVOT
P | RLL 312 | neaDeR eorTON 5 A — PRELIMINARY: \
77\ -
T TOP_PIVOT Ny 1. DRILL HOLES FOR MOUTNING OF PIVOTS AS SHOWN ON TEMPLATE.
5 | g / ‘ 2. ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
n \l | \l 3. NOTCH-OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
2 i3/l TEMPLATE.
N )
! / B - PIVOT MOUNTING:
B ‘ ~ 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12-24 x 3/4 F.HM.S.
= e 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE TO JAMB WITH
TWO (2) 1224 x 3/4 FHM.S.
\l 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER, THEN
W—DELLLFSCMCYSS‘N(E EE§S> SECURE THRESHOLD TO PIVOT BY USING TWO (2) 12—24 x 3/8 F.H.M.S.
\ N ) 4. PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
‘ \\l 1516 DOOR WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
AN UM / SECTION VIEW.
: /—/,Q 5. PLACE BOTTOM DOOR POTION PIVOT IN POSITION AND SECURE TO DOOCR
“\‘ | | & = = WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
i ~3/8 (REF) 1 . LI
Ly o—, | — ¢ C — DOOR INSTALLATION:
11/186 :: ! =—— /s 7/32 3/4 S L a—3/4 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
¥ f I I 3 I 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
T~ L00R PORTION PIVOT HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
13/16 13/16— - 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
—={ 1 17/32 l=— NOTCH-OUT THRESHOLD \l 1\1 \l ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
‘ RETIGHTEN.
\ \ N |
M 4 J—43 PIVOT SET
I 2
13/16 - DOOR_PORTION ol R.H.\LHRB SHOWN
BOTTOM PIVOT
‘ \ \ (OPP.)
b - + - L.H.\ RHRB (OPP.
~ | r CLEARANCE
! ~ 13/8 i
1 - 3/4 ]
7@; FLOOR ‘ | 1/2 f
LEVEL f L ‘ { B 12/25/98 | REDRAWN ECN1143 ‘RM
1/32 3/8 | THRESHOLD DIMENSIONAL TOLERANCES APPROVALS DATE
/ CUT-0UT UNLESS OTHERWISE SPECIFIED | spproveD ° <-: I
NOTCH-OUT THRESHOLD DECIMAL DIMENSIONS .XX  + .010 o] .I \
DECIMAL DIMENSIONS XXX ¥ .005 CHECKED l.‘t {k\"l.
ADJUSTABLE ANGULAR T X O FRACTIONAL T 1/64| DRAWN | JUM |2/14/97 %w
PIVOT PIN 5 /S \Z'OESN LF )QR) THRESHOLD | ¢1¢ o MATERIAL SAE NONE 168 anGeLEs, G ‘90023
1/4-=20 x 5/8 SET SCREW FOR : NEXT ASSY. FINISH SHEET 1 OF 1 SHEETS
LEVELING TO COMPENSATE FLOOR_PORTION INSTALLATION INSTRUCTIONS DWG. NO REV.
FOR UNEVEN FLOOR BOTTOM PIVOT Q. USED HEAT TREAT J—43 PIVOT SET o y
(2 PLACES) ' DOOR FLUSH WITH JAMB 10-570 | B



http://www.autodwg.com

‘REL%E FOR PRODUCTION ‘ DATE

__DRILL & C’SINK FOR HINGE PIN
—t 13/16‘+ 12-24 F.HM.S. (3 PLCS.) §/
sz _~RETAINING PIN
T 7/16 %s%
o e — = =i
i X i S5
E t | =
- 5/16 125 DOOR %
— -] — - R
1 :ﬁ CLEARANCE .-
|
T DOOR_PORTION
W3/32—¢ »‘ = E TOP PIVOT
| | DRILL .312 DIA. HEADER PORTION o =
| (4) PLACES A SECTION VIEW _SHOWING INSTALLATION
= j TOP_PIVOT N
%J‘ | g OF HEX HD. CAP_SCREW w/ EXT. SEMS
|
3 N | N A — PRELIMINARY:
= 413/16‘
16 < - 1. DRILL HOLES FOR MOUTNING OF PIVOTS AS SHOWN ON TEMPLATE.
% N \/ 2. ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
H 3. NOTCH-OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
3 — |
™ 7 TEMPLATE.
— PIVOT MOUNTING:
\\l DR\L\EI PILOT HOLES 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12-24 x 3/4 F.H.M.S.
FOR #14 ANCHORS 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE WITH TWO (2)
\l (2) PLACES \l #14 x 1/2 FHW.S. AND TWO (2) #14 ANCHORS.
\ 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER.
PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
== I — o0R WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
w6 34 } [— — — SECTION VIEW.
SR — - == 5. PLACE BOTTOM DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
~ 7
5%8 f WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
[ |
<12l | NOTCH-QUT THRESHOLD 88 C DOOR INSTALLATION:
32 3 \\ 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
\\1 \\l \\) 3/4 — FLOOR PORTION PIVOT 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
—r 3/4 = HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
{ ooR PORTION ———13/16 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
s SATTOM PIVOT ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
13/16 N = BOTTOM PIVOT \\l ‘ RETIGHTEN ( :
4 \ . |
A \\ \\ 1 APPLICATION A
T— e J=2/7 PIVOT SET
| L \Tj w/ THRESHOLD | 3/4
] ﬁrj\ff;g)} = w/o THRESHOLD |1 1/4
5/16 THRESHOLD N A[2/25/98 ] REDRWAN ECN1143 __[RM
NOTCH-0UT | DIMENSIONAL TOLERANCES APPROVALS DATE
- ‘ 188 DOOR UNLESS OTHERWISE SPECIFIED APPROVED Y h:
. K
> sowstase 1 cearmnce jackson
(&) PIVOT PIN % I ‘ ANGULAR £ O FRACTIONAL % 1/64] DRAWN | JOM [2/14/97 CORPORATION
(s FLOOR l = p/Z f FILE NO. MATERIAL SCALE NONE Je47 oy PACiFC AvE
1/4-20 x 5/8 SET SCREW LEVEL ! NEXT ASSY. FINISH INSTALLATION INSTRUCTIONS | _SHEET 1 _OF 1 SHEETS
TO COMPENSATE FOR UNEVEN FLOOR PORTION ‘ THRESHOLD D57 PNVOT SeT WG 0. =
FLOOR (2 PLACES). “BOTTOM PIVOT an. Use HEAT TREAT DOOR FLUSH WITH JAMB 10-574 | A



http://www.autodwg.com

—DRILL & C’SINK FOR

‘REL%E FOR PRODUCTION ‘ DATE

\l HINGE _PIN
—t 13/16‘+ 12-24 F.HM.S. (3 PLCS.) §/
| L 757 RETANING PIN
| ‘ 5
| S5
Ea ‘¢ t5/16 95t
P 3 125 DOOR 2
-2 i 1 CLEARANCE 2oz
Aoy 15 e | %
' DOOR_PORTION
13/32—¢ »‘ *277; P X TOP_PIVOT
| ] DRILL .312 DIA. HEADER PORTION o P
| (4) PLACES AN SECTION VIEW SHOWING INSTALLATION
e j TOP _PIVOT &7
%J‘ * g M OF HEX HD. CAP SCREW w/ EXT. SEMS
|
51 | N A — PRELIMINARY:
12 _ 13/16 |l
16 N ~ / 1. DRILL HOLES FOR MOUTNING OF PIVOTS AS SHOWN ON TEMPLATE.
} KF\ . \/ 2. ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
B ‘ D - H 3. NOTCH—OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
i — TEMPLATE.
— PIVOT MOUNTING:
\\l DR&: 10T HOLES 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12—24 x 3/4 F.H.M.S.
FOR #14 ANCHORS 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE WITH TWO (2)
\l (2) PLACES \l #14 x 1/2 FHW.S. AND TWO (2) #14 ANCHORS.
\ 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER.
== 4. PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
= = / oo WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
w318~ 374 ‘ [=— =—~ SECTION VIEW.
E—— — % 5. PLACE BOTTOM DOOR POTION PIVOT IN POSITION AND SECURE TO DOOR
5}8 WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
ne o~ : |
|1 21/32 |~ NOTCH-OUT THRESHOLD 1 C — DOOR INSTALLATION:
Cs/a 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
\, \, \ 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
—| 3/4 ~ FLOOR PORTION PIVOT HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
t oor PoRTION —t—13/16 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
13/16 . = G ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
! . D \ RETIGHTEN.
f R |
A N N | APPLICATION A
< < ZAN —_—
— “i“*\jj P ——— J=28 PIVOT SET
i «(:?C)x = W/0 THRESHOLD |1 1/4
3/16 THRESHOLD E A 12/28/98 [R E DR A W N ECNT143 R
NOTCH=0UT 1 DIMENSIONAL TOLERANCES APPROVALS DATE
‘ 3/16 DOOR UNLESS OTHERWISE SPECIFIED APPROVED P9 h:
. DECIMAL DIMENSIONS .XX + 010
© ADJUSTABLE = y‘ r CLEARANCE DECIMAL DIMENSIONS o 005 | o eokel la‘CIKS"l.
(&) PIVOT PIN % ‘ ) ] ANGULAR * X O] FRACTIONAL _* 1/64] DRAWN | JJM |2/14/97 CORPORATION
(s "~ FLOCR 1R /2 ATERIAC SAE N\ ONE AL
1/4-20 x 5/8 SET SCREW LEVEL ‘
TO/COMPENSA4E FOR UNEVEN ‘ THRESHOLD e e INSTALLATION, INSTRUCTIONS SWHE,ETNJ. o e
FLOOR (2 PLACES) ELOOR _PORTION e o J—28 PIVOT SET
: BOTTOM PIVOT ’ DOOR RECESS: 1/8 10-575 |A



http://www.autodwg.com

DRILL & C'SINK FOR

‘RELEASE FOR PRODUCTION ‘ DATE

-
15/16(~ \' 12-24 F.HM.S. (3 PLCS.) HINGE PIN
‘ SECTION VIEW SHOWING INSTALLATION §/
| i x RETAINING PIN
B — OF HEX HD. CAP SCREW w/ EXT. SEMS 4
. 0%
ASZAm ! $e554]
f %955
3 \ f ‘ e
5 5 5/16 125 DOOR /)
B I Y CLEARANCE 755
4 1 p— %
| f ef"i
32
37 DOOR_PORTION
13/32 .37 DOOR PORTION
/ 1 *‘ 64 = TOP_PIVOT
DRILL 312 DiA. HEADER PORTION = A : §
| ‘ ‘ (4) PLACES HEADER PORTION — PRELIMINARY:
1 - TOP_PIVOT 1. DRILL HOLES FOR MOUTNING OF PIVOTS AS SHOWN ON TEMPLATE.
5 | g / 2. ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
I \l 3. NOTCH—OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
% _ TEMPLATE.
!\
} \/ B - PIVOT MOUNTING:
B ‘ N s ~— ‘ 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12—24 x 3/4 F.H.M.S.
— - 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE TO JAMB WITH
h TWO (2) 1224 x 3/4 F.HM.S.
j\l 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER, THEN
127D2RJ¥LLF§MC)SS‘N(§ EEES) SECURE THRESHOLD TO PIVOT BY USING TWO (2) 12-24 x 3/8 F.HM.S.
Y : 4. PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
\\l ‘ \\l 1516 DOOR WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
cwfow 1N / SECTION VIEW.
= /—/,Q 5. PLACE BOTTOM DOOR POTION PIVOT IN POSITION AND SECURE TO DOOR
3}4 = i - = = WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
| i L L
o - —— - 1 = ' o — C — DOOR INSTALLATION:
A ——— ; ? — 9/32 SVZ I | (SR sV — 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
¥ /4 13/8 == I 3 f 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
‘ l S~ 00R PORTION PIVOT HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
13/16 LA 13/16- - 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
—d 11732 NOTCH—OUT THRESHOLD \l \l ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
\ RETIGHTEN.
\ \
S J—=30 PIVOT SET
4
1316 - DOOR_PORTION ol R.H.\LHRB SHOWN
A BOTTOM PIVOT
! f\ \ \ (OPP.)
b - . L.H.\RHRB (OPP.
* \ ~ R 148 # CLEARANCE
: I ‘
1/2 FLOOR | 1/2 }
} LEVEL I L f B [2/25/98 | REDRAWN ECN1143 [RM
3/8 THRESHOLD DIMENSIONAL TOLERANCES APPROVALS DATE
CUT-0UT UNLESS OTHERWISE SPECIFIED | spproveD ° <-: I
NOTCH-OUT THRESHOLD DECIMAL DIMENSIONS .XX + .010 HECKED .‘.‘:I{q"l.
DECIVAL DIMENSIONS xxx  * 005 |1 l. AN
ADJUSTABLE ANGULAR * X O FRACTIONAL ¥ 1/64| DRAWN | JJM | 2/14/97 CORPORATION
ARLSTASLE PIVOTS FOR THRESHOLD [az o SE | ONE P A
VTE%EUXNS/T% SC%TMSENRngTEFOR FLOOR PORTION ' NEXT ASST. FINISH INSTALLATION INSTRUCTIONS | SHEET 1 OF 1 SHEETS
_ DWG. NO. REV.
FOR UNEVEN FLOOR BOTTOM PIVOT QTY. USED HEAT TREAT =20 PIVOT SET



http://www.autodwg.com

'y

—

13/16+/
1 =

oo lu N
r;;

13/32
i

=

—

‘ DRILL .312 DIA.

1

oo|—
fm—

(4) PLACES

DRILL & C'SINK FOR

12-24 F.HM.S. (3 PLCS.)

PIVOTS FOR THRESHOLD
USE ONLY.

HEADER PORTION
TOP PIVOT

I
{00

(o]

9

0

+

125
_ Y CLEARANCE

SECTION VIEW SHOWING INSTALLATION

<

N
K
RS

A
N

OF HEX HD. CAP SCREW w/ EXT. SEMS

SN
&2
RN
SR

5
X3
R

%V’.H/
S

RS

SR

TR

DOOR

SN

=555

R

38

»‘

|

R

5&

S
SO
S

X

o8
S

)

)

A PRELIMINARY:

‘RELEASE FOR PRODUCTION ‘ DATE

HINGE PIN

RETAINING PIN

DOOR_PORTION
TOP_PIVOT

1. DRILL HOLES FOR MOUTNING OF PIVOTS AS SHOWN ON TEMPLATE.

2.
3.

ROUTE OUT JAMB AND HEADER AS SHOWN ON TEMPLATE

TEMPLATE.

FOR PIVOT INSTALLATION.

NOTCH—-0OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON

»)
} ~——| B — PIVOT MOUNTING:
. ‘ N ‘ 1. INSERT HEADER PORTION PIVOT AND SECURE WITH THREE (3) 12-24 x 3/4 F.HM.S.
— - — 2. PLACE FLOOR PORTION PIVOT IN POSITION AND SECURE TO JAMB WITH
N TWO (2) 12—24 x 3/4 F.HM.S.
N\ I\ 3. PLACE THRESHOLD IN POSITION AND SECURE IN NORMAL MANNER, THEN
DRILL & C'SINK FOR SECURE THRESHOLD TO PIVOT BY USING TWO (2) 12-24 x 3/8 F.H.M.S.
12-24 FHMS. (4 PLCS.)
DOOR + PLACE TOP DOOR PORTION PIVOT IN POSITION AND SECURE TO DOOR
| N\ 15/16 /7 WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS AND SHOWN ON
cuT-ouT S | -4 / SECTION VIEW.
= 4 1 PN == 5. PLACE BOTTOM DOOR POTION PIVOT IN POSITION AND SECURE TO DOOR
30 P i | | WITH TWO (2) 5/16 — 18 x 1/2 HEX HD. CAP SCREW w/EXT. SEMS.
} T
Py B— - —1—- - ! =, ——— C — DOOR INSTALLATION:
[ V T — 1 /32 /8 e N8l — 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
¥ /4 13/8 == } I 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
l 13161 T FLOOR PORTION PIVOT HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
13/16 L; 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
111732 NOTCH—OUT THRESHOLD N\ A\ N\ ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
\ N \ ‘ RETIGHTEN.
3/4 : @ NOTE:
1 1. DOOR FRAME OPENING MUST BE EQUAL TO DOOR HEIGTH PLUS 13/16 IN
13%6 . DO0R PORTION P ORDER TO HAVE ADJUSTMENTS AND CLEARANCE AS SHOWN ON THIS
BOTTOM PIVOT DRAWING.
i ~
7/8 \\\\ + {73/16 DOOR
@ P! . 13/8 : ! cLearance
n 3/4 ‘
1/2 ngﬂaﬂya} FLOOR / 1 }W/21
} LEVEL f L y ‘ { THRESHOLD D ‘2/25/98 ‘R EDRAWN ECN1143 \ \ RM
5/8 | DIMENSIONAL TOLERANCES APPROVALS DATE
NOTCH—OUT THRESHOLD cwitoutr | UNLESS OTHERWISE SPECIFIED | aeproven - <-: I
DECIMAL DIMENSIONS XX + .010 @ .I N\
DECIMAL DIMENSIONS XXX ¥ .005 CHECKED l.‘t {b"l.
ADJUSTABLE J-= 5 ] P/ \/O T SET ANGULAR T X O] FRACTIONAL * 1/64| DRAWN | JJM |2/14/97 CORPORATION
MATERIAL N
PIVOT PIN R.H \LH/@B SHOWN e SAE NONE 165 ANGELES, CALIF ‘90023
W/4*20 X 5/8 SET SCREW FOR : : NEXT ASSY. FINISH SHEET 1 OF 1 SHEETS
LEVELING 'TO COMPENSATE FLOOR PORTION /1 \ RHRE (OPP) INSTALLATION INSTRUCTIONS | S5 REV.
FOR UNEVEN FLOOR BOTTOM PIVOT oty UsED —— J=31 PIVOT SET
(2 PLACES) DOOR RECESS:1/8 10-583 |D



http://www.autodwg.com

\\] ‘RELEASE FOR PRODUCTION ‘DATE ‘

, UMINU
i 13/16 DRILL & C'SINK FOR ,/AL MIRUM HEADER HINGE_PIN
L g /12—24 F.HM.S. (3 PLCS.) TP OF
- {5/8 (UNDERCUT) = CooR e
). _ | 755255
L <% ! = RETAINING PIN— E i
= T v
5 /16| i — 55
I 5/8 b DOOR o

X
R
R
X

3
3

CLEARANCE

SR

o~
oV

oS!

1/8 STANDARD
X
f

I
KRB

SR
S
Il
‘o“‘ \’04"\
R
R
R
SRS

S

S

” [T
3/8 ! 1 }
s DRILL .257 DIA.
1/8 (4) PLACES

Y
’g‘o

‘ = & PORTION
| ~PBIVOT-HEADER ‘ SECTION VIEW SHOWING INSTALLATION OF
PORTION ‘ HEX. HD. CAP SCREW & LOCKWASHER.
40-468 : \\l \\l TO REMOVE DOOR USING TOP DOOR PORTION
»‘W/W@‘« PIVOT WITH SHORT RETAINING PIN (ROLL PIN),
— REMOVE EITHER HEADER PORTION PIVOT OR TOP
DOOR PORTION FIRST.
A — PRELIMINARY:
\\j Ty 1. DRILL HOLES FOR MOUNTING OF PIVOTS AS SHOWN ON TEMPLATE.
/me 2. ROUTE OUT FRAME AND HEADER AS SHOWN ON TEMPLATE FOR PIVOT INSTALLATION.
EREL/LS&UN%SE‘%UTFOFSERQ&@?S S I o a6s = 3. NOTCH-OUT THRESHOLD FOR INSTALLATION OF FLOOR PIVOT AS SHOWN ON
2 ON_THRESHOLD e oA — [EMPLATE.
2 ON FRAME @) / — PIVOT MOUNTING:
= ‘ 0 1. INSTALL TOP AND BOTTOM DOOR PIVOTS USING (2 EA.) 5/16—18 x 1/2 HEX HD. CAP
15/32 =
\/ CUT—-0UT T SCREW AND (2 EA.) LOCKWASHERS AS SHOWN ON SECTION VIEW.
\\j \\ ¢ i . ft 2. INSERT HEADER PORTION OF PIVOT AND SECURE WITH THREE 10-24 F.H.M.S.
— ‘ |
3 \G’ ;Ji 3 ‘ b X i I 3. PLACE FLOOR PORTION OF PIVOT IN POSITION AND SECURE TO FRAME WITH TWO
— . = 7 J |
[ A —— 77323 178 3/4 10-24 x 3/8 FHM.S.
I ,':—/,, * 4. PLACE THRESHOLD IN POSITION, SECURE IN NORMAL MANNER AND SECURE
IR — 3}4 —_——— 5/8 SET SCREW (2 PLACES) THRESHOLD TO FLOOR PIVOT USING TWO 10-24 x 3/8 F.H.M.S.
17 8 - —
= * —— FRAME 13/16 — ~— PIVOT—FLOOR PORTION C — DOOR /NSTALLA T/ON
5/8— «1%—# NOTCH-OUT THRESHOLD \\l \\l \\l 1. PLACE DOOR OVER FLOOR PORTION PIVOT AT A SLIGHT ANGLE.
\\j N \ 2. DEPRESS HINGE PIN IN TOP DOOR PORTION PIVOT THEN SLIDE UNDER
HEADER PORTION PIVOT UNTIL PIN IS ENGAGED.
* 3. ADJUST TOP AND BOTTOM DOOR CLEARANCE, AS REQUIRED, BY TURNING
| 9/32"’ 3/4 | = N ADJUSTABLE PIVOT PIN (AFTER LOOSENING SET SCREW). BE SURE AND
+ = ~ = RETIGHTEN.
! N
15/32
i ~ 1 25/32 ;
= |
I = i ,
12 - EFLOOR 21/32L 0 0 31/2 L C|2/25/98] REDRAWN ECN1143 | RM
— t | 3/16 BI3/16/90] 15/32 WAS 19732 [ RM
DIMENSIONAL TOLERANCES APPROVALS DATE
L THRESHOLD LEVEL t 11/32 CLEDAOROARNCE UNLESS OTHERWISE SPECIFIED [ approveD ° “: I
NOTCH-0UT PIVOT-BTM DOOR CUT-0UT AR DECIMAL DIMENSIONS XX T .010 o‘.‘:l{\“.l.
EDGE OF DOOR- THRESHOLD DECIMAL DIMENSIONS XX & 005 | -oeP l. AN
PORTION E— ANGULAR ¥ O] FRACTIONAL T 1/64| DRAWN | JJM | 3/8/97 %ﬁf\ﬂog
40-473 _ FILE NO. MATERIAL SCALE 3447 UNION PACIFIC AVE,
BIVOT—FLOOR PORTION J 4 0 P/ VO 7 SET NON E LOS ANGELES, CALIF. 90023
R.H. 40-938
L.H. 40-941

RH/L H/QB (SHO W/\/) NEXT ASSY. FINISH ‘NSTASEAJAOE‘V‘[S%ng_?T‘ONS DSv:{gETN(; OF 1 SHERE'EF\S/.

QTY. USED HEAT TREAT DOOR RECESS 1/8 10-636 C



http://www.autodwg.com

RELEASE FOR PRODUCTION ‘ DATE ‘

T: DOOR & JAMB MAT'L. *T

WALL THICKNESS
FORMULA TABLE FOR CUT-OUT OF RECESS

R'= T'—=.314

EXAMPLE:

T = ALUM. MAT'L. THICKNESS OF .125 ;z
R’ 125 — 314 M

R

.189 RECESS CUT-0UT

A
PIVOT BACK—-UP PLATE SUPPLIED BY
OTHERS. SEE DETAIL "C" AND FORMULA
il DETAIL C
VERTICAL JAME —
PVOT WING 5/16 THK. (TYP.)1 -
- 3/ DIMS. | A | E
| | FoicIio | . B
i3 b3 - TR YT \M
16 4 s FOR REF. ONLY
L S T DOOR SHOWN DOOR FLUSH 3/4 1/4
I RECESSED 1/8 IN. TO JAMB.
-~ 3/4 - /
Coon e PIVOT D(;OR RECESSED 5/8 3/8
o T I 1/8 INCH.
3/16 R. (TYP.)A 1/4-—20 X 5/8 F.HM.S. (TYP.) 7
S . rmmoes e L
: | | ‘
T T
I 1\ —P i N 1 ‘ ‘ *L RECESS OF BACK =R
pLogis || Inapey E UP_PLATE
s 11g ! | e
A 1 : C L
qi l ‘ I : : I } ‘ Wé
P | s | J—T790 F/VO7 SET
S —P| | & : e T 5
Wi } I } I } 3
L | | EE ~HLLH. R B, SHOWN
¢ ﬁ } :ﬂ: } ‘ ; ; ‘ l ® ® ® ®
! I | V| |
W% | [ } | S il 7
o i P i i | i 7*6 {16
I I
2 | | | | |
T T C[2/28/98] REDR AW N ECNT143 | [RM
T N A P hERAIeE SRESFED  [rornovmn] . <]
T DECIVAL DINENSIONS XX T 010 | e I N
4 5 DECIMAL DIMENSIONS XXX ¥ .005 l:.c {k\"l.
N [ = e ANGULAR * X ©[ FRACTIONAL * 1/64| DRAWN | JJM |2-23-98 CORPORATION
vEw showne poor |42 -| 0 O]l **F NONE saw o e |
- 2
Opy\aguki\%@ﬂiog@ig\VgNEWOT ,iqlg. kwla NEXT ASSY. FINISH J—190 DSv:{gETNé OF X SHE
8 8 aTY. USED HEAT TREAT INTERMEDIATE PIVOT|10-642 | C



http://www.autodwg.com

B
VIEW LOOKING UP
AT HEADER.

3/4 ——

—1/8 DOOR CLEARANCE

//\
| HEADER

f
HEADER (PORTION)

3-31/31
/> O /HEADER
3/16
k L |
2 NN A N IV
§ > | 11/32 1 1/16
& A
7J 3-19/32
-~ 013/30
] 1-9/32 | ®)
T T
4 11/32
#14 x 1 1/4 OR 1/4-20 FLAT HD.
TYP.
é@@ %ﬁ \& 1 3/4 DOOR
—5

DOOR (PORTION)

‘RELEASE FOR PRODUCTION ‘ DATE ‘

DIMENSION

WITH HEADER

DOORS RECESSED 5
1/8 INCH /g
DOORS FLUSH 3

® RHLHRE SHOWN

1/4

| r D 05.03.02 3-31/32 WAS 3-7/8 ECN1578 RM

! ‘ , ¢ C 03/30/01 ADD 3/8 DIM ECN1471 RM

[ ‘ | 1 [ s 1 B 11/19/97 ADD HANDING FOR CLARIFICATION ECN1128 RM

L | C: ‘ — DIMENSIONAL TOLERANCES APPROVALS DATE
i 1/4 UNLESS OTHERWISE SPECIFIED | approveD ° 4—:
\ DECIMAL DIMENSIONS XX+ .010

‘ DECIMAL DIMENSIONS XX T 005 | - oK&P ;a‘fEKS“il

~—3/4 ANGULAR * N/A] FRACTIONAL * 1/64| DRAWN | JJM |12-8-96 CORPORATION

‘ DOOR FILE NO. MATERIAL SCALE ®
NONE 3447 UNION PACIFIC AVE.

~—13/16 LOS ANGELES, CALIF. 90023

NEXT ASSY. s INSTALLATION INSTR. | SHEEL1 OF 1 SHEETS

QTY. USED HEAT TREAT TOFR OFFSET PIVOT v .

(V110 & J110—1,8)10-866 |D



http://www.autodwg.com



http://www.autodwg.com

	10-1049
	10-1049.dwg
	Model


	10-1051
	10-1051.dwg
	Model


	10-501
	10-501.dwg
	Model


	10-552
	10-552.dwg
	Model


	10-568
	10-568.dwg
	Model


	10-569
	10-569.dwg
	Model


	10-570
	10-570.dwg
	Model


	10-574
	10-574.dwg
	Model


	10-575
	10-575.dwg
	Model


	10-582
	10-582.dwg
	Model


	10-583
	10-583.dwg
	Model


	10-636
	10-636.dwg
	Model


	10-642
	10-642.dwg
	Model


	10-866
	10-866.dwg
	Model
	Layout1



